Tasks and answers 5

1. Present your own example of a tautology and explain what the speaker intends to communicate.

Example: Girls will be girls.

If such a tautology is used in a conversation, the speaker clearly intends to communicate more than is said. For instance, in the above example the speaker can communicate that all the girls are the same and there is nothing that can be done about it.

More examples:

Business is business.

Boys will be boys.

Money is money.

2. What can you say about Grice’s cooperative principle?

According to Paul Grice people enganged in a conversation cooperate with each other. The assumption of cooperation is so pervasive that it can be called as a cooperative principle of conversation and elaborated into four sub-principles, called maxims. The cooperative principle is as follows:

Make your contribution such as is required, at the stage at which it occurs, by

the accepted purpose or direction of the talk exchange in which you are engaged.

The maxims

Quantity

1. Make your contribution as informative as is required (for the current 

    purposes of the exchange).

2. Do not make your contribution more informative than is required.

Quality Try to make your contribution one that is true.

1. Do not say what you believe to be false.

2. Do not say that for which you lack adequate evidence.

Relation Be relevant.

Manner Be perspicuous.

1. Avoid obscurity of expression.

2. Avoid ambiguity.

3. Be brief (avoid unnecessary prolixity).

4. Be orderly.

Task: Invent an example in which all the four maxims are adhered. 

3. Can in your opinion any of the four maxims include the other three?

A possible answer:

Yes, it is possible to say that there is only one maxim, namely the maxim of relation (or relevance), which includes all the other maxims. A possible explanation is to  assume that if someone is being relevant in a conversation, they must make their contribution as informative as required, they don‘t say more or less than required (quantity), they say only what they believe it is true (quality) and they try to speak as orderly as possible (manner).

4. Present some examples of cautious notes or hedges by which speakers indicate that they are not only aware of the maxims, but that they want to show that they are trying to observe them.

Hedges indicate that the speakers are not only aware of the maxims (of the cooperative principle), but they also want to show that they are trying to observe them.
Examples:

Maxim of quality

As far as I know, ...

I’m not sure if this is right, …

I may be mistaken, …

Maxim of quality

So, to cut a long story short, …

I won’t bore you with all the details,…

So, to avoid unnecessary details, …

Maxim of relation

Not to change the subject, …

I don’t know if this is important, …

I don’t know if this is related to the story, …

Maxim of manner

This may be a bit confused, …

I’m not sure if this makes sense, …

I don’t know if this is clear at all, …

5. What do you know about an additional conveyed meaning?

Grice distinguished two sorts of implicature: conventional implicature and conversational implicature. They both convey an additional level of meaning, 

beyond the semantic meaning of the words uttered. They differ because in the case of conventional implicature, the same implicature is always conveyed, regardless of context, whereas in the case of conversational implicature, what is implied varies according to the context of utterance.

Examples:

... she was cursed with a stammer, unmarried but far from stupid.

The conjunction but expresses contrast irrespective of the utterance in which it is being used (similar words used for conventional implicature: even, therefore, yet, for).
How old are you?

The semantic meaning of the utterance How old are you? is the same, but the conversational implicature may vary according to the context in which the utterance

is being used. For example, it may be an indication that somebody is not behaving appropriately to their age, or it may be a suggestion that somebody is old enough to act more independently, or it may be a direct question concerning somebody’s age, etc.

6. Who communicates meaning via implicatures and who recognizes those communicated meanings via inferences?

Speakers communicate meanings via implicatures and it is their listeners’s task to recognize those communicated meanings via inferences. Speakers imply something and listeners try to infer what is being implied by speakers.

7. What is the difference between conversational and conventional implicature?

Conventional implicature isn’t based on the cooperative principle or the maxims.

It doesn’t have to occur in conversation and doesn’t depend on special contexts for its interpretation. Moreover, it is associated with specific words (e.g. but, even, yet).

Conversational implicature is based on the cooperative principle and the maxims. It occurs in conversation and its interpretation depends on the context of the utterance. 

It is not connected with specific words.

Task: Invent your own examples illustrating the two kinds of implicature mentioned above.

8. What is the basis of scalar implicature?

A number of generalized conversational implicatures are commonly communicated on the basis of a scale of values and are consequently known as scalar implicatures.

Accordingly certain information is always communicated by choosing a word which expresses one value from a scale of values. For instance, when expressing quantity, 

there is a possible scale, such as < all, most, many, some, few >, or when expressing frequency, there is another possible scale, such as < always, often, sometimes >. Both the scales are illustrated by the following examples:

Examples:

1. I’m studying linguistics and I’ve completed some of the required courses.

2. They’re sometimes really interesting.

When producing an utterance, the speaker chooses one expression from the scale which is the most informative and truthful in the given circumstances. When choosing, for example, some, as in Example 1 above, the speaker creates an implicature (+> not all). The basis of scalar implicature is that, when any form in a scale is used, the negative of all the forms higher on the scale is implicated. Thus, when using, for instance, sometimes, as in Example 2 above, the speaker implicates +> not often and +> not always. 

One noticeable feature of scalar implicature is that when speakers correct themselves on some detail, as in Example 3 below, they typically cancel one of the scalar implicatures.

Example:

3. I’ve got some of my books - in fact I think I’ve got most of them here.

9. Explain the difference between generalized and particularized conversational implicature?

For the interpretation of generalized conversational implicature we do not need any special background knowledge of the context of utterance in order to make the necessary inferences, as in the following example:

Example:
I was sitting in a garden one day. A child looked over the fence.

an X +> not speakers X

The use of the indefinite articles in the above example (a garden, a child) implicates that it is neither the speaker’s garden, nor the speaker’s child. The implicature is calculated on the principle that if the speaker was capable of being more specific, then he or she would have said my garden and my child.

On the other hand, for the interpretation of particularized conversational implicature

we need some locally recognized inferences in order to work out the conveyed meanings.

Example:

Jane:  Whoa! Has your boss gone crazy?

Mary:  Let’s go get some coffee.

The above situation can be described in the following way: Jane has just entered Mary‘s office and noticed all the work on her desk. Although it seems that Mary‘s response flouts the maxim of relation, it is not so. The implicature here is essentially that Mary cannot answer the question in the given context, probably because her boss is nearby and it is not advisable to talk in front of him. 

10. Which properties of conversational implicature do you know?

Unlike conventional implicature, conversational implicature is based on the cooperative principle and the maxims. It occurs in conversation and its interpretation depends on the context of the utterance. Moreover, in the case of conversational implicature, what is implied varies according to the context of utterance. So, for example, the utterance The tea is cold can convey different meanings depending on the situation in which it is being used (on a hot summer day x on a cold winter day). 

